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ENGLISH

l. Read the following sentences and answer the questions that follow. Choose the
right answer and mark it.

1. ‘He said it expanded his lungs’. The antonym of ‘expand'’ is
(1) Unfold (2) Contract (3) Spread (4) Loosen

2. ‘Did you get up early this morning’ ? What part of speech is the word ‘early’ ?
(1) Adjective (2) Preposition (3) Adverb (4) Verb

3. ‘I kept them quiet for ten minutes’. The antonym of ‘quiet’ is
(1} Noisy (2) Calm (3) Complete (4) Cry

Il. Study the bar graph given below and answer the questions. Choose the right
answer and mark it.

RUNS SCORED BY DECCAN CHARGERS IN THE LAST OVER OF AT20 MATCH

al
5L
T |
5
4+ -
3 |-
24
1 4
0 |-
First Second Third Fourth Fifth Sixth
Ball Ball Ball Ball Ball Ball

4. Maximum runs were scored in the
(1) Second ball (2) First ball
(3) Sixthball (4) Fourth ball
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5. How many runs were scored in the fifth ball ?
(1) 6 (2) 4 (3 O (4) 2

6. What are the two balls in which the batsmen scored the same runs ?
(1) Firstand Second balls (2) First and Sixth balls
(3) Third and Fifth balls (4) Secondand Third balls

WI. Identify the proper order of the following sentences and mark them. (The first and
the last sentences are in the proper order.)

7. 1.

o

Hi, Cherry, how are you ?

2. Well, | play a lot of sport.
3.
4. Hi, Abdul. I'm fine. You look very fit and healthy. Whal do you do to keep

l.like shuttle badminton.

yourself like this ?
What sport do you like the best ?

Yes | do. | go running in the morning at least five days a week. Are you interested
in sport too ?

Do you ever go running ?

Yes. | like swimming. | swim everyday without fail.
(1) 1,4,2,5,3,7,6,8 (2)1,3,4,6,2,5,7,8
(3) 1,4,5,3,7,2,6,8 (4)1,5,2,3,6,4,7,8

8. Who is the author of “Mother’s Day : One-Act play” ?
(1) W.R.Inge (2) J.B. Priestley
(3) Shiv K. Kumar (4) Stephen Leacock

9. George Orwell's ‘Animal Farm’ is marked by a profound awareness of

(1) Egquality (2) Liberty
{(3) Social Injustice (4) Fraternity
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10. The novel ‘Animal Farm’ shows how power corrupts _ too.

(1} Men (2) Animals (3) Birds (4) Insects

11. "“Then you can sail away be happy”. In which poem does this line appear ?
(1) Equipment (2) The Giving Tree
(3) HarvestHymn (4) Bullin the City

12. Choose the word that has the same meaning as the expression given below.
“ That which can not be conquered”.

(1) Invisible (2) Infallible (3) Inevitable (4) Invincible

13. “Lots of assembly-line jobs will Vanish”. The synonym of ‘Vanish'’ is
(1) Disappear (2) Appear (3) Found (4) Seen

14. Identify the part of speech of the underlined word.
“The search became a mania with me”

(1) Adjective (2) Noun (3) Verb (4) Conjunction

15. ldentify the number of syllables in the word “around” (around)
(1) Mono (2) Di - (3) T (4) Poly

16. Which letter is stressed in ‘Volunteer' ?

(1) v (2) L (3) E 4 T
17. ldentify the silent letter in ‘subtle’.

(1) s (2) b (3) t (4) |

18. Find the word that is different from the other words in the group with regard to the
sound of the underlined letters.

(1) Change (2) Character (3) Cheap (4) Chance

19. identify the right word for /KJut/
(1) Coat (2) Kute (3) Cute (4) Cote

20. Supply the missing letters to complete the spelling of the word “Anc _ _tral”.
(1) i, s (2) e, s (3) u,s (4) s, e
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IV. Fill in the blanks with suitable answer.

21. After working so hard he didn’'t deserve to fail in the exam,

22,

23.

24.

25.

26.

27.

28.

29.

(1) doesn'the? (2) Didhe? (3) Don'the ?

Yesterday at this time all of us

(1) watched (2) are watching (3) hadwatched
The object is to prevent him failing.
(1) for (2) from (3) in
The rose is prettier than flower.
(1) No other (2) Any other (3) More other
You must cure me this horrible illness.
(1) of (2) at (3) in
Each of the boys given a chocolate.
(1) were (2) was (3) has
There was a man was very greedy.
(1) which (2) when (3) who
injured were immediately taken to the hospital.
(1} A (2) An (3) The

Mark the part of the sentence that has an error.

Sunanda was wearing a pink pretty saree.

1 2 3
(1) 1 (2) 3 (3) Noerror
30. The teacher will come when the bell
(1) Rings (2) Rang (3) Ring
Course Code -4 [5]
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Is he ?

(watch) the cricket match.

were watching

at

Most other
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31.

32.

33.

34.

PHYSICS

If force F, length L and time T are taken as fundamental units, the dimensional
formula for mass will be

200 F, 2 L sobatn svoo T oo @relos @ireroo S0l (55507 Dodarane:

(1) [FL' 7 (2) [FLT™] (3) [FL'T ) (4) [FLUT]

The sum of two vectors A and B is at right angles to their difference. Then,
(1) A=B (2) A=2B

(3) B=2A (4) Aand B have the same direction
A Sobako B H8¥e Doofo, e Dotk $6F0 8o ecmon éod. ek $od TS 50 e
(1) A=B (2) A=2B

(3) B=2A (4) A 208030 B ev ol 0¥ dothit

Choose the correct statement

(1) The area of displacement-time graph gives velocity

(2) The slope of velocity-time graph gives acceleration

(3) The slope of displacement-time graph gives acceleration

(4) The area of velocity-time graph gives average velocity

2B @00 IS SooEod
(1) TsEiodo - 2o (o YT o ImY o0 (2) Do - Swo [TH Trew S8l 3900

(3) Srodicio - w0 Ivh Tres Brry 39300 (4) o - Teo [T PR Hiew DTy 3300

A ball is projected with a velocity 20 m/s at an angle to the horizontal, in order to
have the maximum range. It's velocity at the highest position must be approximately.
2.5 2080 20 M/ Ines’ §du08" D058 08", NOZT R Jod desore B§te D, MOR 8y 3¢

T e oS ET

(1) 20m/s (2) 20v2m/s (3) 10m/s (4) %m/s
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35.

36.

37.

38.

39.

Which of the following forces is a conservative force 7

(1) Frictional force (2) Airresistance force
(3) Electrostatic force (4) Viscous force

8ol T Vs weo DB 9

(1) oges weo (2) ™® 6% 20

(3) 2052555 w00 (4) i wwo

A 6.0 kg object is suspended by a vertical string from the ceiling of an elevator
which is accelerating upward at a rate of 0.2 m/s®. The tension in the string is

6.0 kg o m:dai0 97 b S5tood S B0faed Jespne Perd &, 85 0.2 M/s? #trod’ pé
BATrE3RE: SIS BisE wwo e (g = 9.8 M/s?)

(1) 11N (2) 70N (3) 48 N (4) 60N

The coefficient of restitution for perfect inelastic collision is
)1 (2} Infinity

(1

(3) Liesinbetween 0and 1 (4) Zero
SOY @@@iﬂgé eodyrard @@g&ﬁ@% %o

(1) 1 (2) exdovo
(3) 0 080x0 1 S0 ésociaiso ‘ (4) ooy

In equilibrium the potassium (39) and iodine (127) atoms of Kl are separated by
approximately 3 A . The centre of mass of KI from potassium js at distance of
088 Kl wenipE® Zrerhabo (39) motain emunds (127) sosreange tg 6o 3 A eoxd
Trerbalho BEBTERsd So06 Kl ¢8558 2o o o

]

(1) 1.2 A (2) 2134 (3) 2.29 A (4) 1.8 A
The maximum speed of a car on a curved path of radius r and the coefficient of

friction u is
TIGoT SOAD SIERTFPoS” o5 T Hareloni®R MRDNo (Foge Mo | )

B _ - |9 =
(1) V= o (2) V= uar (3) —\[: ‘4) v Juar
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40. Moment of inertia of a rigid body is independent of

41.

42.

1) Mass of the body

3
4) Anguiar velocity

(1)

(2) Position of axis

(3) Nature of distribution of mass about axis
(

CHGe R0 LSS BP0 BIP esTTHEE:

(1) =390 G908 (2) egomo
(3) oo Gy s 55078 2860 (4) EdanBro

The rotational kinetic energy of a body is 80 J. If the moment of inertia of the body
about the axis of rotation is 4 x10-7 kgm?, the angular momentum of the body is
w8 500 @sors 488 80 J @itoemio Gy g wass eroso 4 x 1077 Kgm? ecsod es ego Soad
Sedan gingdio

(1) 4J2x103Us (2) 8v2x10°Us

(3) 8x107%4s (4) 4x1024s

The height at which the value of acceleration due to gravity becomes 50% of that at
the surface of the earth (Radius of the earth = 6400 km)

£ 5000 5008 Joth JBYS Kothiss Sieo Jewsd 2P eddBe0 Do KhEs B0 eSS’
50% v &otnod. (070 o 6400 km)

(1) 2650 km (2) 2430km (3) 2250 km (4) 2350 km

A man weighs 75 kg wt on the surface of the earth. His weight in a geostationary
satellite is

(1} Infinity (2) 150kg

(3) Zero (4) %kg

2P &:30B00 A6 28 Bodh s 75 Kg Wi o b 500 0805 erss eprod’ Jow 9
(1) esono (2) 150kg (3) oy (4) 7—25kg
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44.

47,

For a particle in simple harmonic motion the amplitude and maximum velocity are
A and V respectively. Then its maximum acceleration is

BETTTHE Seovod” di 28 5630 00 D020 500000 MBHDTes S0 A H08050 V @0 &
Ee20 M0R 858830 e

(2) VA (3) 1:— (4) V/A

V2

(1) oA

The length of a wire under stress changes by 0.01%. The strain produced is
200 50 8 HX FEHE” 5562 0.01% 000 e SRS DG5EDS D5

(1) 1x10~ (2) 0.01 (3) 1 (4) 104

A drop of liquid having radius 2 mm has a terminal velocity 20 cm s7', the terminal
velocity of a drop 1 mm radius will be

2 MM Tgrgo SOAR (55 Doty Wy Do 20 cm &7 esond Tmm TgIrgo SORT 890 135
BT VOS5 Do Jots 9

(1) 40 cm s (2) 20cm s (3) 10cm s (4) 5cms™

In a process the pressure of a gas remains constant. If the temperature is doubled,
then the change in volume will be

2.5 PEaS Hesbesso Hes o PR Bejod) TRSHED 9% HOBFE0E’ DEHES

(1) 100% (2) 200% (3) 50% (4) 25%
Incase of hydrogen and oxygen at NTP which of the following is same for both.
1) Average linear momentum per molecule

(

(2) Average K.E. per molecule
(3) Kinetic energy per volume
(

3
4) KE per unit mass
NTP 5¢ 3ri&as sotamo edes Tamgpo Eod 06" D6 HSSmsorn &otim ?

(1) wew S Bhad @gro (2) eoransy ooy, Sivexs KS¥E

(3) @nres PoH05TETE KOHS (4) ey 508
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49. Which of the following is wrong

200 TIE° HE5e08
R C yR

(M Cv=y @ g7 (3 C=,; (4 C-C=2R
50. Newton’s law of cooling is a law connected with

(1) Conduction (2) Convection

(3) Radiation (4) Conduction and radiation

Rgead 85930t Qoo I Somoiio EORHOH

(1) egsso (2) éaRossto

(3) epddsen (4) 5550 5obak: DES0

51. The equation of transverse wave propagating in a string is given by y = 0.02 sin
(x + 30t). Where x and y are in metre and t is in second ? If linear density of the
string is 1.3 x107* kg/m, then the tension in the string is

2.5 HNE” Palrediiy B8 Bor Hlussmoy = 0.02 sin (X + 30t) X 200ao Y oo dowb Eirered”
' 055 EErrred’ o, S0P o 1.3 X107 Kg/M eond Sr&” g Duss

(1) 0.12N 2 1.2N (3) 12N (4) 120N

52. Velocity of sound in vacuum is

(1) Equalto 330 m/s (2) Greaterthan 330 m/s
(3) Lessthan 330 m/s (4) Zero

Hrrog0d” 5 i

(1) 330 m/s 35w (2) 330 m/s %ol edo

(3) 330 m/s zoel 635 (4) ooy

53. Speed of light in vacuum is 3 x 108 m/s. If refractive index of glass is 1.5, the time
taken by the light to travel 400 m in glass in microsecond is

575508 0@ Do 3 x 108 M/s. 1.5 553 rheato AR rerd” o8 400 M &rto Soirelod il
263500 PE RIS Boodod.

(1) 443 (2) 8 (3) 2 (4) 3

Course Code—4 [10]
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55.

56.

57.

In an optical fibre during transmission of light

(1) Energyincreases

(2) Energy decreases

(3) No loss of propagation of energy takes place

(4) Light partially refiects and refracts

2.8 (5T B0 5708 RO BHOBIHRHE
(1) 38 Siheood

(2) %8 ermm

(3) rvos® 58 SHe econes
(4)

4) Sod SO HOHS0 SoBaHy HIELNHH0 Do

Waves that cannot be polarised are
(1) Longitudinal waves (2) Transverse waves

(3) Electromagnetic waves (4) Lightwaves
ajhele) CSOD&:?)& X000 BorTed

(1) eeadgsoomen (2) S&E soomre

(3)  Desogscibam, o érorrean ' (4) sod ssorren

Electric charges +10uc, +5uc, —3uc and + 8uc are placed at the corners of a square
of side /2 m. The potential at the centre of the square

+10uc, +5uc, —3uc 000y + 8uc 36535@3m J2 m ghezo 2resd) FDRD BBSEHo Teih Harve
D¢ GOBWAD. & BELSEH Too H¢ D FOVADS

(1) 1.8x10°V  (2) 1.8V (3) 1.8x10°V  (4) 18x10°V

At the centre of a cubical box + Q charge is placed. The value of total flux that is
coming out of each face is

2.8 3050 Boleso 3¢5 + Q esdio Sodadisd. uido R&HRwPo Boodk Desogd efiriro

Q Q Q - Q
M & @) &<, ) 4¢, 4) Be,

Course Code -4 [11] (P.T.0.)
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58.

59,

60.

61.

The deflection in a galvanometer falls from 50 divisions to 20 divisions, when a
12Q shunt is applied. The Galvanometer resistance is
120 o DeeT meS Srssid NS, o0 et 50 erme dod 20 Derre s

s TrergS SIS0 6o

(1) 240 (2) 18Q (3) 30Q (4) 36Q

A copper wire of resistance R is cut into ten parts of equal length. If all these

pieces are joined in parallel. This new combination will have a resistance.

R 280 5DAK 2.8 T°h S8 55075 Sreadife D8 armrenne Jg¥odo exBhod. £ errodyoedd SErosd

HoiTses” EBRIHCD &8 Dordo HPB 28 S0

R R R
U @ 1o ® 5 @) <

For a paramagnetic material, the dependence of the magnetic susceptibility x on
the absolute temperature T is given by
T QD08 DEY A, 08 S (“bga@eﬁ) X 50800 550 &afiise D65 HoRoE.

(1) xaT (@) xaT? (3) xa% (4) xa%

A generator produces a time varying voltage given by V = 240 sin 120t, where tis
in second. The rms voltage and frequencies are

(1) 240vand 60 Hz (2) 170vand 19 Hz

(3) 170vand 60 Hz (4) 120vand 19 Hz

2.5 25068 &y Darn ood T 550 F92 vo¥seo V =240 sin 120 t. a5,¢ t @srno

Foc, 00D MMS TP 5000k FSid0 Deoded.
{1) 240 v 50000 60 Hz (2) 170 v 50800 19 Hz

(3) 170 v 28010 60 Hz (4) 120 v 3080 19 Hz

Course Code -4 : [12]
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62. The neutral temperature of a thermo couple is 500°C. The inversion temperature if
cold junction is at 30°C is

2.8 3000 Besp e 500°C, $ed Hob ¢ 30°C eond DE%00 a2y
(1) 1030°C (2) 530°C (3) 970°C (4) 1000°C

63. The rest mass of a photon is

(1) Zero (2) 1.6x10%kg (3) 3.1x103%kg (4} 2.1 x 10" kg
2.8 e DT (55503
(1) oy (2) 1.6x10"%kg (3) 3.1x10%kg (4) 9.1 x 10 kg

64. Inaphoto electric experiment, the maximum velocity of photoelectrons emitted

(1) Depends on intensity of incident radiation

(2) Does not depend on cathode material

(3) Depends on frequency of incident radiation

(4) Does not depend on wavelength of incident radiation

570 eSS (5790 HERKE” DS @6l Tod Deogrion KBgdro

(1) 285 5208 SRep esproneoo (2) sFcIorgop emrne

(3) 205 od Foupvom LT BB (4) 5855708 BUoND § 0 LTEIEE

65. The radius of the oxygen nucleus (8016) is 2.8 x10-'Sm. Then the radius of the

lead nucleus (4,Pb? ) is

e3d o3 Bogsgo ( 016) Tgo 2.8 X107 m @ond Lo Soso [82Pb205) PATSAe

(1) [QOST x2.8x107"°m (2) [16 sz 8x107'*m
205
(3) (2065]Z><28x10'15m (4) [2106 Tx28><1015m

Course Code —4 [13] (P.T.0.)



66.

67.

68.

69.

70.

The half-life of radium is 1600 years. The time does 1 gram of radium take to

reduce to 0.125 gram.
(1) 4500vyears (2) 5000 years (3) 4750 years (4) 4800 years
Béane eghdds seo 1600 Sosdores. 1 i dabe 0.125 (rdw efmdd 3¢ oo

(1) 45005058y (2) 5000zcsgyres  (3) 4750 3cssmres (4) 4800 Sonsores

Among the following the lightest particle is

(1) electron (2) proton (3) =°meson (4) neutron
E08 TUE BOZS ¥evo
(1) dogd (2) FerS (3) n2orS (4) Sogers

When the P-n junction diode is reverse biased, the thickness of the depletion layer.
(1) Increases (2) Decreases

(3) Becomes zero (4) Remains constant

P-n 208 ¢ar&S S8 orRe” #Dhidc 820 8 Sooio

(1) 2t (2) &

(3) Sommy expasood (4) 5765

In an npn transistor the base and collector currents are 100pA and 9mA

respectively. Then the emitter current will be

NPN @rRRbs" e 3000 DE0e3 Eorfen S 100UA Sobako IMA ecwd o ik

(ERTeST0 D0

(1) 18.2mA (2) 9.1mA (3) 3.91pA (4) 18.2 uA

Among the following one can act as the universal logic gate.
Eod TDE D 2§ TeBonT B DoTH.
(1) NOT (2) OR (3) AND (4) NOR

Course Code -4 [14]
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MATHEMATICS

2 . 4
71, 1) = S5 XS X gy e R, then £(2012) =
SIN X+ COS X
cos? x +sin* x
)= —
SiNTX+C0S " X
(1) 1 (2) -1 (3) O (4) 2

,V xe R ecnd f(2012) =

72. i f:R >R, g:R— R defined by f(x) = 3x — 2, g(x) = X2 + 1 then (gof ) (2) =

f:R->R g:RoRaxf(x) =3x -2, g(X)=X2+1TT°§)C5“gD§:)D(gOf—1) (2) =

- 2 9 -9
= @ 5 ® 5 “ 2=

73. S =1 +22+33+...nM, T =1+2+3+...nthen

S,=13+2°+ 3+ .. T =1+2+3+ ... N eond ep

(1) §,=3T, (2) S =2T,

) 8, =T2 4) 8§ =T3
74 A—_1 2| B=° & d A =B Then X
. —_3 41 ° 51 2_an 2X+A= enX=
a1 2] g|3 8] 5

13 4 °7|7 2 50807 2X + A = B esandd X =

-1 3 1 -3

W [—2 1} @) 2 —1}

3 13 1 3

SAPE () 2 -1

Course Code -4 [15] (P.T.0.)
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11 1
75. IfA=[1 1 1|thenRank (A)=
11 1

11
1 1| @on§3(A) =
1 1

1>
Il
-

(1) 0 (2) 1 (3) 2

76. i—2j, 3j+ kand Ai= 3j are coplanarthen A=

i —2), 3} + k 20800 Al = 3] oo 08daires @ond A=

1
(1) 1 (2) 3
-3
3 - (4) 2
77. 1 SOSTHSINY _ ik, then k =
C0s9°—sin9°
cos9 +s!n9 = cot k easd k =
C0s9°—-sing°®
(1) 36° (2) 30° (3) 45°
78. If sin™ {E}—sin‘1 (Ejzz,thenx= (x> 0)
X X 2
A . 5 |
sin [——]-FSI” (—]z—acmé)(: (x>0)
X/ 2
(1) 12 (2) 13
(3) 14 (4) 15

Course Code -4 [16]
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79.

80.

81.

82.

It 1og (5+[26) = sin h~'(k), then k =
log (5+ ]_26) = sinh™'(K) excod k =

(1) 2 (2) 3 (3) 6 (4) 5

|fa:26,b=30,cosc=%,thenc:

a:26,b=30,cosc=%eoxésc=

(1) 7 (2) 8 (3) 6 (4) 9

The equation of locus of p, if the distance of p from the origin is twice the distance
of pfromA(1,2) = |

P &% HotHP 2006 Hurme Dot M Erdswn, P ed A1, 2) Botsp® fo Sroeds Beloppot
P Do HabEteniog

(1) 3x2+3y?—-8x—16y+20=0 (2) 3x2+3y?+8x—16y+20=0

(3) 3x*+3y?—-8x—16y—-20=0 (4) 3x2+3y?—-8x+16y—-20=0

The distance between the parallel straight lines 3x + 4y —3=0and6x+8y—-1=0
IS

3X + 4y ~ 3 = 0 508050 6X + 8y — 1 = 0 557086 Do 5065 Srdamn

-3
@ 5

4) ~%

The image of (1, —2) w.r.t the straight line 2x -3y +5=0is

(1)

(3)

W N =

2x— 3y + 5 = 005eBy &y 5 (1, —2) By, HSHows0

(1) =3,4) (2) (3,-4) (3) (3,4) “4) (=3,-4)

Course Code -4 [17] (P.T.0.)



A
84. XZplane devides the line segment joining the points A (-2, 3,4)and B (1, 2, 3) in

the ratio
A (-2, 3, 4)508aB (1, 2, 3) Loty D By oty XZ $90 287200 A8 =
(1) -3:2 (2) 3:-2 (3) 3:2 (4) 2:3

85. The angle between the planes2x—-y+z=6andx+y+2z=7is
2X —y +2 =6 50000 X + Y + 22 = 7 $re 5055 S'eo

T
(M) & @) % @ % @ o
. cosax —cosbx
86. Lim 3 =
X0 X
a® —b? b? —a® a® +b?
M = @ — () — (4) 0
Lim e* —sinx —1
87' x—0 _x— =
(1) 1 (2) 0 (3) 2 (4) -1
88. The derivative of Tan™ [12—)(2] when |x|<1is
—X
|X|<1 eonsde Tan™ {1 2x 5 ]o‘.b.)s’b IFORI[00
—X
2 2
) 72 @ 7
_D -2
(3) 1+X2 (4) 1_X2

Course Code -4 [18]



AT

89.

90.

91.

92.

93.

Ify = ae™ + be™, then y” is

y = ae™ +be™, eond y' =

(1) n% (2) -n?y (3) ny?

The slope of the normal to the curve x = a(6 —sin8) y = a(1 - cos0)

.
te=—1s
a 21

(4) —ny?

x=a(0—sing),y=a(1 —cosh) s o=" 3¢5 eadoondy Tre =

2 [
1
(1) 0 (2) 1 (@) @ 5
2 2
If o, B are the roots of ax?2 + bx + ¢ =0, c #0 then %—% IS
. o,
2 2
ax?+bx+c=0, ¢ 20 30T @, P oo Soreren e0d Of?_;g_z
o+
a’ c?
(1) = @ =
_g? _c?
(3) 2 (4) 2
(1410)1°=2% (x +iy), then x® + y? =
(1+1)'°=2%(x +iy), ®o0d X+ y2 =
(1) 2 (2) 1 (3) 3 (4) 4

f1,-2and 3aretherootsof x* —2x2+ ax+6=0thena =

X2—2x2+ax +6 =0 & soreren 1, -2 208050 3wond a =

(1) 5 (2) 4 (3) -5

Course Code -4 [19]
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94,

95.

97.

98.

The number of ways of arranging the letters of the word MATHEMATICS is

MATHEMATICS 5¢506%) exgtrose emdy agwe Sops
(1! (! (n! (In!

(1) 32 @ a4 G 3a ) 2202

Number of terms in the expansion of (2x + 3y + z)7 is

(2X + 3y + Z)7 D56e:8" e Sogyg

(1) 78 (2) 87 (3) b (4) 67
3x+7 -10 K

X _3x+2 x—1 x—2 menk=
3x+7 =-10+ K 4K =

X2 -3x+2 x-1 x-2 FORSR=

(1) 11 @ 12 3) 13 4) 14

If nc,=nc,, then 13c_ =

NC, = NC,, wod 13¢_ =

(1) 78 (2) 87 (3) 76 (4) 67

The probability of a non-leap year containing 53 Sundays is

82 D00 0 oSt to8 53 edmrorencd: Soarig

2 3 4
1 3 (2) Z 3 3 4) 7

The mean and variance of a binomial variable X are 2.4 and 1.44 thennis
B3 Deresso X &° Boggiosan 2.4 5000 IS 1.44 wodn

(1) 4 (2 2 (3) 6 (4) 5

CourseCode ~4 [20]
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100.

101.

102.

A Poisson variable satisfies p(x = 1) =p(x=2) then p(x =5) =
X 2.8 Jrowers Sood p(Xx = 1) = p(X = 2) ecnd p(X=5) =
g2 2° e?5? g2 25 . 5
(1) =) @ — (3) 5 (4) e =
If the points (2, 0), (0, 1), {4, 0) and (0, k) are concyclic then k is
(2,0}, (0, 1), (4, 0) 3o8a%0 (0, K) Bocoyen “idatreand K
(1) 4 (2) 6 (3) 8 (4) 2
X2 +y2+4x + 8 =0, x? + y>~ 16y + k = Q circles are orthogonal then k =

X*+y?+4x+8=0,x2+y?— 16y + k = 0 o oo Smes wond K =

(1) -8 (2) 8 (3) 6 4y 7
103. The position of the point (2, 3) with respect to the parabola y? = 6x is
(1) Inside the parabola (2) Outside the parabola
(3} Onthe parabola (4) None of these
y? = BX Srrdeako Syrs (2, 3) Doy NS
(1) Sorsearrds ecsson (2) Sosoctrdd erdrgorr
(3) sodecto ans (4) 98 s
X2 2
104. The eccentricity of the ellipse 6 + Xg— =1is
x2 y2
w6tg " 1 e &8 9T e@) o8
7 J7
(N 3 . @ 5
J7
@) @ 7
Course Code -4 [21]
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AR A
105. f3x—-4y +k=0isatangenttox®?—4y?=5thenkis

~ 4y? = b &8 Joodeoaid 3x — 4y + k = 0 5509 eond k
(1} +2 (2) +3 (3) +4 (4) £5

« [ 1+xl
106. [e [ongi] dx on (0, )

(1) e*logx+c (2) e*secx+c (3) e*logx+c  {(4) Noneofthese

107 ]i o dx is
EE TS

(1) log2 (2) log3 (3) log4 (4) log5

108. Tiog (T+tanx) dx is
0

T s
—log 2 ~log 2
(1) Zlog (2 Zlog
L i 8
—log 2 —log 2
(3) o9 (4) —-log
109. The area bounded by the parabola y = x?, the x — axis and the lines x = -1,
x=2is
Y = X2 5050008 P X —ego X = —1, X = 2 Bpe8To H05¢308 ©0F pEreo
(1) 1 (2) 2 (3) 3 (4) 4

2 37%
110. Order and degree of E’—!+ dy =6y is
dx? | dx

6,

2 3 A
{% + [‘dj_yJ } = By SOXTPEI0, HONS
X X

(1) 2,3 (2) 3,2 3 1,2 (4) é,1

Course Code -4 [22]



| O
CHEMISTRY

111. The total number of orbitals associated with the principal quantum numbern=4is
B s0t0 DoggN = 4 & ) Dooto esderde Bogg

(1) 9 (2) 5 (3) 16 (4) 8

112. The correct order of electronegativity of O, S and Cl is
O, S mo0ain Clo Sread s ste HBAPS E:50

(1) O<S<C! (2) Cl<«<S<0Q
(3) S<O<«Cl (4) S<ClI<O

113. Which is the weakest base ?

308 T3’ eSS T IO 9
(1) Ce(OH)3 (2) Pl’(OH)3
(3) Sm(OH), (4)~Lu(OH),

114. Which of the following molecules has T-Shape ?
00 736" D errape T-es8 Foch 7

(1) XeO, (2) CIF, (3) PF

3

115. Among B, C,, N, and O, molecules, which are paramagnetic ?
B,, C,, N, 50001 O, sengos’ Sroreahom,on o $BRSD 2D 2

(1) C,, 0, (2 B, N, (3) N, 0, (4) B, O,
116. Kinetic energy of 5 moles of nitrogen at 27°C is

27°C 5 5 dode pieses aroing) Kdes 33

(1) 18.71kJ (2) 9.35kJ (3) 37.42kJ (4) 4.67kJ

117. Which of the following species do not undergo disproportionation reaction ?
308 36" D6 BT 1985 eHEd 9

(1) CIO” ) Clo, (3) CIO; (4) CIO,

Course Code —4 [23] (P.T.O.)



118. The number of hydroxyl ions (OH) in the balanced equation of
M,OL(aq) +1"(ag) > M, O, (s) +1,(s) is
(1) 4, right (2) 4, left (3) 8, right (4) 8, left
MnO3 (20) 4 I~ (&) > MO (0)+ Ia(8) () & a7 0050 BRI, e Suoitesod”
£020% @S woirS (OH) o Sogy
(1} 4,548 (2) 4, 200 (3) 8,48 (4) 8, des0H

119. Which of the following processes is associated with increase in entropy ?
A) Melting of ice
B) Freezing of water
C) CaCO,(s) — CaO(s)+CO,(g)

D) Hy(g) — 2H(g)
808 BEab’ BIE oS WHrHBes ?

A) S0 Ko

B) 26 50deoto

C) CaCOjz(30) — Ca0(30)+COs (=)

D) Ha(¥) — 2H(=)

(1) A, C @ B,C,D (3) A,B,D (4 ACD

120. Equilibrium constant for the reaction

N,(g) + O,(g) = 2NO (g) at 800K is 0.25. What is the equilibrium constant for the

reaction ?
1 1
NO(g) = ENz(g) +§02(9) at the same temperature
Na (7°) + Op () “= 2NO () & 156555 800 K 3¢ S50 507050 0.25. &b edfiyies 5¢
1 1
NO (&)= 5 No (=) + > O2 () &5 w5655 530598 Horoso Job ?

(1) 4 (2) 2 (3) 05 (4) 0.125
Course Code-—4 [24]
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121. Which of the following has highest Ka value ?
(1) Formic acid (2) Acetic acid
(3) Benzoic acid (4) Phenol
Bod T36° B3 Ka oo 15050 ?
(1) 5o (2) Jdeds=no
(3) BoFowsivo (4) boF
122, Permanent hardness of water is due to the presence of salt.
e38 Ty ST D0 oke0
(1) Mg(HCO,), (2) MgSQO,
(3) Ca(HCO,), (4) Na,CO,
123. Weight of 5 carat diamond is
5 sedede Hieso 2380
(1) 50kg (2) 100mg (3) 1000mg (4) 500 mg
124. The decreasing order of hydration enthalpies of alkaline earth metal ions is
50 59)8E E% warde rEd Jogdhes 87 E@o
(1) Be* > Mg®> > Ca? > Sr+?
(2) Be?** > Ca? > Mg? > Sr*
(3) Sr**> Ca? > Mg> > Be*
(4) Sr?* > Be? > Mg > Ca*
125. BOD values of four water samples are given. Which is highly polluted ?
e 063 S5arre BOD Dessen ggadt. D8 IS5 Seohgmpsed ?
(1) 100 ppm (2) 75ppm (3) 50ppm (4) Sppm
126. nwhich of the following compounds sp hybridised carbon is not present ?
S0t FIRES D TDo@HoE" S P KoXsESE0 KOS ¢S 8eso 9
(1) H,C=C=CH, (2) HC=N
(3) HC=CH (4) HC=0
Course Code -4 [25] (P.T.0.)



127.

128.

129.

130.

131.

Which of the following compound is not aromatic ?
L0 TIE ABHTeIE SAoiso TAD 2B ?

o I @ L1
@) l@ () @

Which of the following is a pair of metamers ?
Zo8 738" Doerabe a0ty D6

1) CH,CH,OH, CH,CH,OCH,
) CH,COOH, CH,COOCH,
)
)

(
(2
(3) H,CCH,NHCH,CH_, H.CNH CH, CH, CH,
(4) CH,CH,NH,, CH_NH CH,

Which of the following is more stable carbocation 7
300 38" o HERD TERELCITS D6 7

(1) &CHy)e (@) HOCH). ) HCcH, (4 CH,
Which of the following is an example of electrophilic addition reaction ?
808 Te36° a@l_gf:@E RHO¥OS HTE ST 20 ?

(1) CH,+ CH,C/AICI, » C,H,CH, + HCl + AICL,

(2) H,C=CH,+Br, - CH,BrCH,Br

(8) H,CCH,Br+ KOH(alc) - H,C=CH, + KBr + H,0

(4) H,CCH_Br+ KOH (aq) — H,CCH,OH + KBr

Carbon and hydrogen in an organic compound are detected as
2.4 S So 06D 5)S Bobos G mses v OO

(1) CaCO,, CuSO,5H,0 (2) Ca(HCO,), CuSO,.5H,0
(3) CaCO,, Cu(OH), (4) Ca(HCO,),, Ca(OH),

Course Code -4 [26]
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132.

133.

134.

135.

136.

137.

Which of the following is a Bragg equation ?
208 736" 1A DNESE0 DO 9
(1) d=nr/2sine (2) ni=dsin® (3) d=A/nsin® (4) d=2A/sing

Aqueous solutions of which one of the following has highest boiling point ?

(1) 0.1Mglucose (2) 0.1 Msucrose (3) 0.1MNaCl (4) 0.1 MAL(SO,),
8065 3OO O Soito woEseTIS KR Ertyis Lo &oeod ?

(1) 0.IMAZs'S  (2) 0.1M=Es  (3) 0.1MNaCl  (4) 0.1MAL(SO,),

A solution of CuSQ, is electrolysed for 965 seconds with a current of 1 amperes.
What is the mass of copper deposited at the cathode ?

CuSO, serd 1 es0baHb $Botnd 9650%0¢ e DixBgses By SE 0 3¢ Dgasochy 550
ePSA00Es ?

(1) 3.15¢ (2) 0.315g (3) 6.30g (4) 0.63g

Rate constant of a reaction is 2.3 x10-5 L mol's™'. What is its order ?
28 965 Bt oroso 2.3 X107 830~ 7" eowis e o7 @iorogo Job 9
(1) O 2 1 3 2 4) 3

Which is an emulsion ?

(1) Froth (2) Smoke (3) Cheese (4) Milk
206 636 25095 00 9
(1) oo (2) (3) 2% (4) oo

Which of the foliowing is an example of roasting ?
800 TIE” DB 210 &5 HIEADL G ?

(1) ZnCO43 — Zn0O +CO,

(2) FeO+SiO, — FeSiO,

(3) 2Cu,S+30, - 2Cu,0+280,

(4) ALO, +2NaOH + 3H,0 — 2Na[A(OH),]

Course Code -4 [27] : (P.T.O.)
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138.

139.

140.

141,

142,

Which of the following is the correct order of boiling points ?
EPEISRS ST H0LoROD HOGRI E00 D8 ?

(1) NH, < PH, < AsH, < SbH,

(2) NH, <PH, > AsH, > SbH,

(3) NH, > PH, < AsH, > SbH,

(4) NH,>PH, > AsH, > SbH,

Chlorine reacts with Na,5,0, aqueous solution to form Na,SO,, HCI'and X" Which

one of the following is X ?
E85Na,S,0,, mogseod wiSod Na,S0,, HClo& Jn X & Desiom 300 738" X 8 2

(1) SO, (2) SO
(3) H,8 (4) 'S

Hydrolysis of XeF gives a compound of Xe in addition to HF. What is formula of

the compound ?
XeF s eso 9356 Dy HF & Jneo D Xe Sdoiso otner 2203 2

(1) XeQ, (2) “XeO, (3) XeOF, (4) XeOF,

A magnetic moment of 1.73 BM will be shown by one among the following :
200 738" DSEo 1.73 BM eabim,of grsssl) $rikiged 7

(1) INi(CO),] (2) TiCl,
(3)[Cu(NH,),I* (4) [Ni(CN),}*

Electronic configuration of a lanthanide ion Ln?* is 45, The lanthanide is
2.5 oogdb oalrs LN dogS dogio 4. & erogipé Sareso 38 2

(1) Sm (2) Eu (3) Gd (4) Pm

Course Code -4 [28]
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143. How many moles of AgCl is precipitated when aqueous solution of one mole of

144,

145.

146.

CoCl,.4 NH, is treated with excess of AGNO,, ?

252 CoCl,.4 NH, o croeos e05 AGNO, & 56Tobods: es§dotvat AgCIarde

o35 OB ?

(1) 0 @) 1 (3) 2 (4) 3

Which is the monomer of neoprene in the following ?

308 Te3E° IDTRS @8, 26 08 7

(1) H,C=CH-CH=CH,

2) H,C=0-CH=CH,
CH,

(3 H,C=C-CH=CH,
cl

(4) HC=CH-CH,

Which is an artificial sweetner ?

(1) Sodium benzoate (2) Tararic acid
(3) Aspartame (4) Ranitidine
ol e3S” 5@ Bsdel DA 2

(1) oo Bosdins : (2) ergosiivo
(3) g (4) oe3dS

Which of the following is highly reactive towards SN’ reaction ?

SN DO GOTT eahsoth moos%w ) R’ﬁa&q??éo S8 9

(1) CH,Br (2) CH.CI
(3) CH,CH,Cl (4) (H,C),CBr
Course Code -4 [29]
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147.

148.

149.

150.

Which one of the following reactions is not correct ?

808 55506° DO DO 5% ?

(1) H,CCH, OH—CW573K 1 c-CH,

(2) HaC CH=CHCH, OH—"CC ,H,C CH=CHCHO

+
1) CrO,Cl, /CS,, 2)Hy0

(3) HsCq —CHs »CgHs — CHO

The transformation RCOOH — RCH,OH can be achieved by - reagent.
RCOOH — RCH,OH e53 56565 — 576508 Qoo

(1) Zn.Hg/MHCI . (2) LAIH,
(3) Pd/BaSO, (4) NaBH,
Arrange the following amines in increasing order of their basicity.
3005 OO Dalomow FO50 SR 00 20 7
NH,(1), C.H.NH, (2), C.H, NH, (3}, (C,H,), NH (4)
(1) 1<2<3<4 (2) 2<3<4<1
(3) 3<1<2<4 (4 1<3<4<?2

What is B in the following reaction ?

ob BEE° B Doed 9
+
CoHN,CI—CUCN/KCN 5 FO7 g
(1) GH,CN (2) C,H,CH,COOH
(3) C,HNH, (4) C,H,COOH

Course Code-—-4 [30] -





